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metric calculation in EIGRP istrue? A.&#160;&#160;&#160; The maximum delay along the path is used.

B.&#160;& #160;& #160; The mean value of bandwidth between the source and destination isused. C.&#160;&#160;&#160; The
minimum bandwidth between the source and destination isused. D.&#160;& #160;&#160; The minimum delay along the path is
used. Answer: C NEW QUESTION 775 Which two piece of information can you learn by viewing the routing table? (Choose
two.) A.&#160;&#160;&#160; Whether an ACL was applied inbound or outbound to an interface. B.&#160;& #160;& #160;
Whether the administrative distance was manually or dynamically configured. C.&#160;& #160;& #160; Which neighbor
adjacencies are established. D.&#160;&#160;& #160; The EIGRP or BGP autonomous system. E.&#160;&#160;&#160; The
length of time that a route has been known. Answer: BE NEW QUESTION 776 Which two tasks should you perform to begin
troubleshooting a network problem? (Choose two.) A.&#160;&#160;&#160; Gather the facts. B.&#160;&#160;&#160; Define the
problem as a set of symptoms and causes. C.&#160;&#160;&#160; Implement an action plan. D.&#160;&#160;& #160; Monitor
and verify theresolution. E.&#160;&#160;&#160; Analyse the results. Answer: AB NEW QUESTION 777 While the packet
travels from source to destination through an Internetwork, which of the following statements are true? (Choose two BEST answers.)

A.&#160;&#160;&#160; The source and destination hardware (interface) addresses change. B.&#160;& #160;& #160; The source
and destination hardware (interface) addresses remain constant. C.&#160;& #160;&#160; The source and destination |P addresses
change. D.&#160;&#160;&#160; The source and destination |P addresses remain constant. Answer: AD NEW QUESTION 778
Which difference in the packet fragmentation feature between IPv4 and IPv6 istrue? A.&#160;&#160;& #160; Fragmentation
performed by 1Pv4 Sender and forwarding routers |Pv6 Only by the sender. B.&#160;&#160;&#160; Thereis no fragmentation in
IPv6 because it uses Path MTU Discovery in order to find the smallest packet size to the destination. Answer: B NEW QUESTION
779 By default what is the maximum number of equal metric path BGP uses for load balancing? A.&#160;&#160;& #160; 6
B.&#160;&#160;&#160; 4 C.&#160;&#160;&#160; 8 D.&#160;&#160;&#160; 16 Answer: C NEW QUESTION 780 What
aretwo limitations of Stateful NAT647? (Choosetwo.) A.&#160;&#160;&#160; No requirement on the nature of 1Pv6 address
assignment. B.&#160;&#160;&#160; Lacksin end-to-end address transparency. C.&#160;&#160;& #160; Gyros for all. Answer:
AB NEW QUESTION 781 Which two features are compatible with port security? (Choose two.) A.&#160;&#160;& #160; Voice
VLAN B.&#160;&#160;&#160; SPAN source ports C.&#160;&#160;&#160; DTP Answer: AB NEW QUESTION 782 With
PCA and PCB and there are three routers between them and a different MTU value and they want a PCA to run an application with
PCB and DF is set so we have to choose ...? A.&#160;&#160;&#160; MSS B.&#160;& #160;&#160; PMTU
C.&#160;&#160;&#160; GRE D.&#160;&#160;&#160; DF Answer: A NEW QUESTION 783 Which two pieces of
information can you determine from the output of the show ntp status command? (Choose two.) A.&#160;&#160;&#160; The NTP
version number of the peer. B.&#160;&#160;& #160; The configured NTP servers.  C.&#160;&#160;& #160; The | P address of
the peer to which the clock is synchronized. D.&#160;&#160;&#160; Where the clock is synchronized. Answer: CD NEW
QUESTION 784 Y ou areimplementing WAN access for an enterprise network while running applications that require afully
meshed network, which two design standards are appropriate for such an environment? (Choose two.) A.&#160;&#160;&#160; A
centralized DMV PN solution to simplify connectivity for the enterprise. B.&#160;& #160;&#160; A dedicated WAN distribution
layer to consolidate connectivity to remote sites.  C.&#160;& #160;&#160; A collapsed core and distribution layer to minimize
costs. D.&#160;&#160;&#160; Multiple MPLS VPN connections with static routing. E.&#160;& #160;&#160; Multiple MPLS
VPN connections with dynamic routing. Answer: AB NEW QUESTION 785 Which task do you need to perform first when you
configure P SLA to troubleshoot a network connectivity issue? A.&#160;& #160;&#160; Specify the test frequency.

B.&#160;& #160;& #160; Enable the ICMP echo operation. C.&#160;&#160;& #160; Schedule the ICMP echo operation.
D.&#160;&#160;& #160; Verify the ICMP echo operation. Answer: B NEW QUESTION 786 Which technology can combine
multiple physical switchesinto onelogical switch? A.&#160;&#160;&#160; HSRP B.&#160;& #160;&#160; VSS
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C.&#160;&#160;&#160; VRRP D.&#160;&#160;&#160; NHRP Answer: B NEW QUESTION 787 Which two facts must you
take into account when you deploy PPPOE? (Choose two.) A.&#160;&#160;&#160; DDR idle timers must be configured to support
VPDN login. B.&#160;&#160;& #160; PPPOE supports a maxiumum of 10 clients per customer premise equipment.

C.&#160;& #160;& #160; DDR isnot supported. D.&#160;&#160;&#160; Y ou must manually configure | P addresses on the
PPPOE interface. E.&#160;&#160;&#160; An individual PV C can support one PPPoE client. Answer: BE NEW QUESTION
788 What are two reasons to use multicast to deliver video traffic, instead of unicast or broadcast? (Choose two.)
A.&#160;&#160;&#160; It provides reliable TCP transport.  B.&#160;& #160;&#160; It enables mulitple servers to send video
streams simultaneously. C.&#160;&#160;&#160; It enables multiple clients to send video streams simultaneously.
D.&#160;&#160;& #160; It supports distributed applications. E.&#160;&#160;& #160; It enables multiple clientsto receive video
streams simultaneously. Answer: DE NEW QUESTION 789 ...... Download the newest PassLeader 300-101 dumps from
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